Algebra Quick Quiz
November 29, 2021
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A long string with a balloon at the end
was tied to the ground. After a breeze
came up, the balloon was 35 feet to the
right of where it was tied and 30 feet
above the ground, as shown in the figure
helow.
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What is the slope of the line between the
balloon and the point where it was tied?
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Jerry had k pencils. Darcy and Leonard
then gave Jerry an additional x pencils
each. Which expression could represent
the number of pencils Jerry has now?
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Which of these shows the inequality y > 4 — x?
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Which of the following BEST describes
the domain of the relation graphed
below?

{v such that -8 < y < 2}
B |xsuchthat -4 < x< 3}
C  {vsuchthat -4 < y< 2}
D |xsuchthat -8 <x< 3}



7.

Which table of values represents a linear relationship?

X f(x) x fi(x)
-1 -3 “F| =8
0| -2 0| -1
1 1 1 1
2 6 2
3| 13 3
(1) (3)
x | f(x) x | f(x)
1| = =
0 1 0 0
1 2 1 1
2 4 2 8
3 8 3| 27
(2) (4)

8.

How does the graph of f(x) = 3(x = 2)> + 1 compare to the graph

of g(x) = x*?

(1) The graph of flx) is wider than the graph of g(x), and its vertex
is moved to the left 2 units and up 1 unit,

(2) The graph of flx) is narrower than the graph of g(x), and its vertex
is moved to the right 2 units and up 1 unit.

(3) The graph of flx) is narrower than the graph of g(x), and its vertex
is moved to the left 2 units and up 1 unit.

(4) The graph of f(x) is wider than the graph of g(x), and its vertex is
moved to the right 2 units and up 1 unit,



Temperature
(in degrees Fahrenheit)

The graph below shows the outside
temperature recorded every hour for a

24-hour period in Larry’s hometown.
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What is the range of this eraph?
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54°F to 78°F

1 hour to 24 hours

54°F to 60°F

24 hours to 80 hours

24



10.

The time that it takes to fill a tank
depends upon the rate at which the water
is flowing. It takes 40 minutes to fill the
tank at the rate of 3 gallons per minute.
How many minutes will it take to fill the
tank at the rate of 4 gallons per minute?
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Which expression is equivalent to (3)«(5 + 8x3) — (?x2 — 6x3)?
® -—4x° +14

~4x° + 14x°

3x° + 14x° - 7x~

3x° + 2x° — 7x°






